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04 26s A 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=201.9
A2=12.88
A3=0.8=t
A6=2080.0
A7=24.4
∆=91.01
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x=logL

02 26s Y 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=145.0
A2=8.54
A3=0.8=t
A6=991.2
A7=14.6
∆=35.78
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log ∆L  Leuchtdichte-Diffenz-
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02 26s B 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=98.67
A2=6.14
A3=0.8=t
A6=484.8
A7=9.66
∆=4.677
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log ∆L  Leuchtdichte-Diffenz-
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x=logL

02 26s R 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=184.5
A2=7.1
A3=0.8=t
A6=1048.0
A7=11.59
∆=22.19
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log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

AD 26s G 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=103.3
A2=6.51
A3=0.8=t
A6=538.5
A7=10.42
∆=16.73
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log ∆L  Leuchtdichte-Diffenz-
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04 0,1s A 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289
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log ∆L  Leuchtdichte-Diffenz-
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02 0,1s Y 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=67.98
A2=4.49
A3=0.8=t
A6=244.5
A7=6.54
∆=2.677
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x=logL

02 0,1s B 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=46.24
A2=2.45
A3=0.8=t
A6=90.66
A7=3.06
∆=0.556
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02 0,1s R 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=70.62
A2=4.49
A3=0.8=t
A6=253.9
A7=6.54
∆=6.4
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log ∆L  Leuchtdichte-Diffenz-
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x=logL

AD 0,1s G 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=61.44
A2=3.73
A3=0.8=t
A6=183.7
A7=5.19
∆=1.703
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04 26&0,1s A 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=201.9
A2=12.88
A3=0.8=t
A6=2080.0
A7=24.4
∆=91.01

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289
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02 26&0,1s Y 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=145.0
A2=8.54
A3=0.8=t
A6=991.2
A7=14.6
∆=35.78

A1=67.98
A2=4.49
A3=0.8=t
A6=244.5
A7=6.54
∆=2.677
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02 26&0,1s B 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=98.67
A2=6.14
A3=0.8=t
A6=484.8
A7=9.66
∆=4.677

A1=46.24
A2=2.45
A3=0.8=t
A6=90.66
A7=3.06
∆=0.556
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02 26&0,1s R 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=184.5
A2=7.1
A3=0.8=t
A6=1048.0
A7=11.59
∆=22.19

A1=70.62
A2=4.49
A3=0.8=t
A6=253.9
A7=6.54
∆=6.4
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AD 26&0,1s G 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=103.3
A2=6.51
A3=0.8=t
A6=538.5
A7=10.42
∆=16.73

A1=61.44
A2=3.73
A3=0.8=t
A6=183.7
A7=5.19
∆=1.703
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04 26s A/B 6,3cd/m2; hyp3
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=201.9
A2=12.88
A3=0.8=t
A6=2080.0
A7=24.4
∆=91.01

A1=98.67
A2=6.14
A3=0.8=t
A6=484.8
A7=9.66
∆=4.677


